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e 0 Convett 723, to its equivalent hexadecimal
and Y=28p. Caloeiate X-¥ and Y-X using 2's complement method
(3+5=10 M)

b. Given two numbers X=135

Add 389 and 799, using BCD anthmetic
[5+5=10M)

b.  Convert 485 to coy responding Gray code

Giver & Hoolean function F(A,B.C,D) = X(0,1,3,6,7,5,9,13,14,151+4(2,12), implement the system
(10 M)

using minimum number of NAND cates only,
Besign a 452 priority encoder with priority order D1=D2>DE=D3, using basic logic gates. (10 M)

4,
5. Realize FI{A.BC)=ABTACHATET | PFaABCE Y0267 md FACA R C=AC+-A ' B WS
ong decoder apg 320H gates H“"-'*'l:l
0. [mplement the logie function FCAB.C,IN =C'DHABC+BED4A'R'D using one 8] multiplexer
{10 M}

with ABC as seflect lines.

. Convert a T flip-flop to an AB flip flop which has the functionality s provided below, AB=D0 sets
the tlip flop, AB=01 will reset the flip-flop, AB=10 will weele and AB=11 will keep the previous
{10 M)

vilue,
A sequential circuit shown in Figure 1 has an mitial value Q1Q20304 = 1010 after how many
(10 M

glocks the register content comes back to its initial value,
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9.

1,

11.

Sign 4 synchronous circuit to obtain following seg|lence

of numbers 1,3,5,7.0 usi
and logic gates. using D fTip flops

(10M)
Besign a BOD to excess 3 code converter using programmable read only memury, (10M)
. Implement the Boolean function FI(A,B.C)- A'BC+B'C+A’R'+AR' and

F2{A.B,C) A'BC'+A'B'C'+AC" using PLA.
b, Implement FIX,Y,2)= Y(0,1,2.3.6) and FAXY.Z)=¥(1,4567) using PAL. (5+5=10M)

Design a CMOS circuit to implement

g F1= ABCHA'R’
b. F2=(AB'C"+ AC" ) (5+5=10M)
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2 10 4 2 T S T T o
3 10 3 3 1,23 1,2
3 10 2 ] R 1.2
3 K] 5 i 1,-2-3 1.2
4 10 5 4 s 1,2
4 10 = 4 }2.3 1.2
% 10 5 5 1,2:3 |




